20248 =& 1 3 LBSH =HASD
A sgdsn
M =& QlE=IH
el SYHME0E |4 (CH2]: X2
2A - EH - OR(3) - NIRAY - BAS O kol )| & o HIDE2
=S 10,642,571 9,831,013 811,558
= 692,970 685,970 7,000
I 110,397 124,901 A14,504
= 1,005,341 943,823 61,518
i 8,833,863 8,076,319 757,544
sE dgsd 750,324 570,724 179,600
= 60,490 60,490 0
= 53,795 50,045 3,750
i 636,039 460, 189 175,850
s3&EE |54 646,283 478,683 167,600
= 60,490 60,490 0
= 53,795 50,045 3,750
i 531,998 368, 148 163,850
dsdius2d 68,843 66,243 2,600
201 23| 20,600 15,600 5,000
01 AtR2elt] 20,600 15,600 5,000
Ou= - At XI& 1,000,000 %153 15,000 10,000 5,000
406 J|EHAHZ0|A 600 3,000 22,400
01 J|EtAHE0IA 600 3,000 22,400
OSold =& sSHI= 600,00024%13] 600 3,000 22,400
SICHISS 234,200 134,200 100,000
307 212t01& 30,000 10,000 20,000
02 QIRHBAIAHEE R 30,000 10,000 20,000
O&E4-Hs| s 29 XA
30,000,000 30,000 10,000 20,000
402 QIZERHE0|A 174,000 94,000 80,000
01 CIZFXHE A B2 (KERITHE) 174,000 94,000 80,000
O&E4-Hs| 2L} XA
50,000, 0002 *4 I} A *80% 160,000 80,000 80,000
A0IEY HEEY WS Ald 29 84,500 44,500 40,000
301 LEt2d= 44,500 4,500 40,000
08 2I2+e1= 2| 0| 40,000 0 40,000
OANIEYE FEFPWE 12 A=
4,000,000& %10 40,000 0 40,000
SHCISISEHA SHOISCHS! AL 5,000 0 5,000
307 212t01& 5,000 0 5,000
04 CIZIHALAIRIE T 5,000 0 5,000
OsEXC AL SHOtSUEl AR
5,000,000 5,000 0 5,000
FN=HZIXNUE ws X3 10,000 0 10,000
= 3,750 0 3,750
o 6,250 0 6,250
307 212t01& 10,000 0 10,000
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2N s
M =& 0128y
o9l sSoES0IR 4

2A - FH - GR(3) - MRAY - BYS Ofl Ak oA )l H o
< 3,750 0
T 6,250 0
02 QIRHBAIAHE R 10,000 0
Oz N=sgFHAUNE s X
2,000,000 52! 10,000 0
== 3,750 0
o 6,250 0
=2 JIZE2D| s oBtdiol 22 10,000 0
201 LAY 7,600 0
01 At22elt| 7,600 0
Osg JIE20| g optdiol 2Ai2 & 1
JAIDSIESSu]l ,600,000 7,600 0
301 LBEAEZ 2,400 0
11 HAAHIX 23 2,400
Osg JIZERJ| S OBtHI0l EAXE Al
2 2HAH| 2,400,000& 2,400 0
OlefazEat 22 104,041 92,041
OlcHadH 2t H A2 104,041 92,041
201 LB 67,200 55,200
02 2=223| 58,200 46,200
OIS 4,500,000 122 54,000 42,000
MNSEEINEFE 2,703,653 2,637,653
= 519,850 512,850
J| 5,769 5,769
== 68,840 65,840
o 2,109, 194 2,053,194
NAESS Iz 836,653 798,653
= 27,850 20,850
J| 5,769 5,769
== 1,200 1,200
i 801,834 770,834
ASANEELE 29 209, 101 185,101
405 XHAHE SH| 50,000 26,000
01 AR SEFSHI 50,000 26,000
OaSANEEZE 29 XAX 7
44,000,000 *1CH 44,000 20,000
AN SAHS JIEA WsHAE XA 14,000 0
= 7,000 0
o 7,000 0
202 0441 2,000 0
= 1,000 0
o 1,000 0
01 2U0dd| 2,000 0
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FM: sHEED
M NN FE
=l NSSEs JI=hE CEREERD
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
OJI=24 THH & 2149 & w=s ST 0|
100,000& 4 H 53] 2,000 0 2,000
= 1,000 0 1,000
i 1,000 0 1,000
307 212t01™ 12,000 0 12,000
= 6,000 0 6,000
i 6,000 0 6,000
02 SIHBAANHEE 12,000 0 12,000
OJt24 THHY =g s 29
1,200,000 %103 12,000 0 12,000
= 6,000 0 6,000
o 6,000 0 6,000
MRS Mk X 1,867,000 1,839,000 28,000
= 492,000 492,000 0
== 67,640 64,640 3,000
o 1,307,360 1,282,360 25,000
H ASS XNEEE AIHA 40,000 20,000 20,000
402 CIZHRHE0|N 40,000 20,000 20,000
01 CIZFXH= A B2 (XERITHE) 40,000 20,000 20,000
Ol dZSS Ml sXH 2 SXH X2 S
5,000,000 %8I A 40,000 20,000 20,000
IsR4tE oHE el XIJ 105,000 105,000 0
= 42,000 42,000 0
i 63,000 63,000 0
307 212t01™ 0 90,000 290,000
= 0 36,000 A36,000
i 0 54,000 /54,000
02 QIRHBAIAHE R 0 90,000 A90,000
OY9s2Aa2 otEHe| N o 0 90,000 A90,000
= 0 36,000 A36,000
i 0 54,000 /54,000
402 CIZHRHE0|N 90,000 0 90,000
= 36,000 0 36,000
i 54,000 0 54,000
03 QIZtRIELALAHI 90,000 0 90,000
Og=s242 otExel Nd 29|
90,000,000 *1IH 2 90,000 0 90,000
= 36,000 0 36,000
o 54,000 0 54,000
== =&Y N (SSLH UEz) 720,000 720,000 0
== 48,140 48,140 0
o 671,860 671,860 0
206 M=l 19,500 0 19,500
< 3,900 0 3,900




2A: sHEDL
M NN FE
el AEHE Mo T2 CEEEN
SN B SL(3) - MRAY - BES Ol ol & o GImE==l
i 15,600 0 15,600
01 H=H| 19,500 0 19,500
Osgol 3= s&gs 7
65,0002%300 19,500 0 19,500
< 3,900 0 3,900
i 15,600 0 15,600
307 212t01& 700,500 720,000 A19,500
== 44,240 48,140 A3,900
i 656,260 671,860 /15,600
02 QIRHBAIAMHE R 700,500 720,000 A19,500
OZ3s =&Y & S HEd=
120,000 %2,918.75na*23] 700,500 720,000 19,500
< 44,240 48,140 23,900
i 656,260 671,860 15,600
YL 2F 70t SEEA MY 8,000 0 8,000
== 3,000 0 3,000
o 5,000 0 5,000
307 212t01 & 8,000 0 8,000
== 3,000 0 3,000
o 5,000 0 5,000
02 QIRHBAIAHE R 8,000 0 8,000
OR4ER &8 170t S AlY
10,000, 0002 * 141 x80% 8,000 0 8,000
< 3,000 0 3,000
i 5,000 0 5,000
=S5 SHAA 2,704,550 2,417,340 287,210
= 87,450 87,450 0
J| 25,496 20,000 5,496
< 350,571 354,710 24,139
i 2,241,033 1,955,180 285,853
NSE =S5 Mot 2,441,550 2,154,340 287,210
J| 25,496 20,000 5,496
== 318,321 322,460 24,139
= 2,097,733 1,811,830 285,853
W=EXXR 66,030 0 66,030
402 CIZHRHE0|N 66,030 0 66,030
01 QIR A B2 (XERITHE) 66,030 0 66,030
OLNBZ ArEbIMAH(BIESXI) X2
502 1,080, 000&*50% 27,000 0 27,000
OLUSE At BIAHEEE X~
150,000 3202 +50% 24,000 0 24,000
OAtlt MEdata AEE K&
90, 0002 *334IH*50% 15,030 0 15,030
== AS AE THEHZEZE J|BtEY 686,000 420,000 266,000




A sHIEDL
M U=EX SENE
SHel NSE S Mo (cro): =2l
2A - ZH - HA(S) - MRAIY - BES Off koK J 3 A HnsZ
206 M= Ul 22,500 12,000 10,500
01 M= 22,500 12,000 10,500
Ol ASAIFEEZE Olgl 2= 7
150,0002*70 12 10,500 0 10,500
401 AIEHIZL 200 655,500 400,000 255,500
01 Al&H] 655,500 400,000 255,500
O=&ad MOUAIAE 2=
25,000,000 *390 2 75,000 0 75,000
OOtEM == H2E AIAE 725
25,000, 0002 %27 2~ 50,000 0 50,000
OOIZ U Dt== LI AIAE
23,500, 0002 %370 2 70,500 0 70,500
OOFSTH b=~ oM THHH AIAE 2=
20,000,000 *39 2 60,000 0 60,000
ASS H2RH 234,240 292,800 58,560
= 6,848 13,460 26,612
s 227,392 279,340 151,948
402 2I2FX201H 234,240 292,800 258,560
= 6,848 13,460 26,612
s 227,392 279,340 151,948
01 QIZEXHEAE 22 (REHITHR) 200,000 0 200,000
OUAS OIS A= =4
200,000, 0002 *2IH 2+50% 200,000 0 200,000
02 QIZHH2 AT 2 A (01X THA) 34,240 292,800 258,560
ORENY K& 13,780, 00021%50% 6,890 6,450 40
< 1,378 1,290 88
= 5,512 5,160 352
Ot =8& 2= K&
10,000, 0002 *50% 5,000 4,350 650
= 1,000 870 130
= 4,000 3,480 520
Oulas &= szt X 0 255,500 A255,500
0AIAS DHAIMAAIL STHSH X1
0 0 55,500 255,500
= 0 6,000 26,000
s 0 49,500 249,500
0AIAS Ot AEsE S4 02l 0 200,000 200,000
Otal FIIMEHM X
10,000, 0002 *50% 5,000 10,500 25,500
< 1,000 2,100 21,100
= 4,000 8,400 24,400
Ot XtHTHaHE 2 X
34,700,0002 *50% 17,350 16,000 1,350
= 3,470 3,200 270
= 13,880 12,800 1,080
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2A:

s
M EX SHAA
SHel NSE S Mo CEREERD
2A - B C9(3) - MPAY - BES Ofl o I3 o GImE==l
= DEE AESEUE 63,740 50,000 13,740
J| 25,496 20,000 5,496
< 11,473 9,000 2,473
i 26,771 21,000 5,771
402 QIZERHE0| A 63,740 50,000 13,740
J| 25,496 20,000 5,496
< 11,473 9,000 2,473
i 26,771 21,000 5,771
02 CIZFXHEAIH 2 (0| X THEA) 63,740 50,000 13,740
Oit= NSE AESUst
127,480, 0002 *50% 63,740 50,000 13,740
J| 25,496 20,000 5,496
< 11,473 9,000 2,473
i 26,771 21,000 5,771
AEAIZS] ZHSA25} 3,062,382 3,002,157 60,225
J| 79,132 99,132 A20,000
< 316,885 257,978 58,907
o 2,666,365 2,645,047 21,318
NBESASHA AILXIA 3,062,382 3,002,157 60,225
J| 79,132 99,132 A20,000
< 316,885 257,978 58,907
i 2,666,365 2,645,047 21,318
AAWZ=Z KIFAS 1,632,000 1,554,000 78,000
402 QIZERHE0| A 1,632,000 1,554,000 78,000
01 CIZFXHE A B2 (KEHITHE) 1,632,000 1,554,000 78,000
OAlE&0sot dUXl =838 XA
8,240,000 %251 A *50% 103,000 250,000 A147,000
OZI| s2& A4 XA
22,200,000 *3074 A *50% 333,000 416,000 A83,000
OZJ| oloIHE A€ XA
36,000,0002*357H A *50% 630,000 400,000 230,000
oolLte| L& AE5RA XA
52,000, 0002 *3IH A*50% 78,000 0 78,000
MEDD| R4 EEX 15,000 5,000 10,000
307 212t01& 15,000 5,000 10,000
04 CIZFHALAIRIE T 15,000 5,000 10,000
O™ EI|=0t storstial izl
10,000,000 10,000 0 10,000
MHASEAIS XA 1,200, 142 1,177,917 22,225
< 288,397 220,490 67,907
i 911,745 957,427 45,682
307 212t01™ 236,473 138,214 98,259
= 70,942 41,465 29,477
= 165,531 96,749 68,782

&




2A:
X{XH -
o /e

cH):

sgdED
ANEAMNH AL}
NEESAS UM AFEXIE

2A - ZH () - MRAY - HAS Ol &F2H JE A Hlns2
02 QIRHBAAMHE R 236,473 138,214 98,259
OMAZ (LI Matory XI&
236,473,000 236,473 138,214 98,259
== 70,942 41,465 29,477
i 165,531 96,749 68,782
402 2IZ2EXHE0I1A 963,669 1,039,703 AT6,034
< 217,455 179,025 38,430
i 746,214 860,678 A114,464
02 CIZEXHEAIH 2 (0| X THEA) 963,669 1,039,703 AT6,034
OAE30 AXEHBZH XI&
2,000,000 111 A*50% 11,000 49,125 A38,125
== 2,200 9,825 AT,625
i 8,800 39,300 /30,500
O LD (ER) X
40,000,000 40,000 68,828 A28,828
< 8,000 13,765 25,765
i 32,000 55,063 A23,063
ORI |HD|(22, 2+8) XA
22,000, 0002 %37 A+50% 33,000 40,000 A7,000
== 6,600 8,000 A1,400
i 26,400 32,000 25,600
OAILoIRA HEASIEE X2
o« 85,000 /85,000
== 17,000 A17,000
i 68,000 AB8,000
OsdEs pH & SEHE S3HE e &
0& 0 50,000 A50,000
== 0 10,000 A10,000
i 0 40,000 240,000
OAE&0 =3¢ XA 87,500,0002 87,500 290, 100 A202,600
< 8,500 29,010 220,510
i 79,000 261,090 182,090
O, Ol Mat M2old s X
0& 6,650 26,650
== 1,425 A1,425
i 5,225 Nb,225
OAE20 EMH XI&
1,972,000 *10JH 22 *50% 9,860 9,860
< 2,958 2,958
i 6,902 6,902
Os4t2 Magl 28X
332,309,000 332,309 0 332,309
== 99,197 0 99,197
= 233,112 0 233,112
DFHIDMEITHEIAIE XA 0 50,000 A50,000

_467_




2AM:
X{XH -
o /e

cH):

SELSH
ANEAMNH AL}
NEESAS UM AFEXIE

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
J| 0 20,000 A20,000
== 0 9,000 29,000
i 0 21,000 A21,000
402 2IZ2EXHE0I1A 0 50,000 /50,000
J| 0 20,000 220,000
== 0 9,000 A9,000
i 0 21,000 A21,000
02 CIZEXI=2 AL B (0| M THS) 0 50,000 A50,000
OLDFHIDIETHEIAIE XA o 0 50,000 /50,000
J| 0 20,000 220,000
== 0 9,000 A9,000
i 0 21,000 221,000
Oli=< LRI 1,261,439 1,171,439 90,000
= 25,180 25,180 0
< 215,250 215,250 0
i 1,021,009 931,009 90,000
gdsll=sE=s 1,261,439 1,171,439 90,000
= 25,180 25,180 0
== 215,250 215,250 0
i 1,021,009 931,009 90,000
UASAIEEE 29 199,619 114,619 85,000
201 23| 11,480 7,480 4,000
01 AtR2elt] 6,000 2,000 4,000
OR0Z0F ASAIEEZE 22|
6,000,000& 6,000 2,000 4,000
401 AIEBIZL S008I 131,000 50,000 81,000
01 Al&H| 131,000 50,000 81,000
ORMEES ASAIEEE AL HA
131,000,000 131,000 50,000 81,000
20EZ2 Jl=sAY 643,600 633,600 5,000
402 RIZHXHE01H 613,600 608,600 5,000
01 CIZEXH= A B2 (XERITHE) 613,600 608,600 5,000
OgMNE D20lo ol Al
20,000, 000! *2JH Ax80% 32,000 16,000 16,000
O=sZ8 FAIAE X AlY
22,000, 0002 % 1IH A *50% 11,000 22,000 A11,000
Hees(=9Zsd) 128,523 0 128,523
SEXE 128,523 0 128,523
2rzttezgd 128,523 0 128,523
802 Btat=DIEt 128,523 0 128,523
01 FNE2XZEE3 118,792 0 118,792
OSEZ2(HA) MAAIE S AIY &
Zhol 33,000 33 0 33




2N s88E

M WRES(sHEED)

o2 BEIE (cHol: M)
2A - ZH () - MRAY - HAS Of] &K JE A Hlns2

O===Z0FAISE ALY &l

2,641,000 2,641 0 2,641
02023 sEXIT Argd &SHZoH
62,943,000 62,943 0 62,943
020229 ==XIT Arg EEroH
15,468,000 15,468 0 15,468
SENZAY Akl 37,707,0002 37,707 0 37,707
02 Al - SHIBE3btE= 9,731 0 9,731
O==Z 0N ALY TR ErH
673,000& 673 0 673
O=20FKIRArY & ZroH
3,592,000 3,592 0 3,592
OXI&D |2l DA Z s xtoH
1,627,000 1,627 0 1,627
OJ|=E20tA2 Zeixtol
1,700,970 1,701 0 1,701
OsEXNT HaH&H 2,036,000 2,036 0 2,036
020234 MollsIA WAL EBHEHH(
OIXFLE) 101,790 102 0 102
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